



Where:	Ford Idaho Center Horse Park 1-84 Garrity Boulevard, Exit 38 Nampa, ID 83687
When:	May 25 – May 28, 2023
Approved By:	Idaho Reined Cow Horse Association National Reined Cow Horse Association Intermountain Reined Cow Horse Association
Host Hotel:	Hampton Inn 5860 Franklin Rd. Nampa, ID 83687 (208) 468-4866 *Be sure to mention you're with the IRCHA Show, book by 5/15/23 for special rate*
Judges:	Darren Miller and Chris Benedict
Stall & RV Reservations	Online at <u>www.idahohorsepark.com</u> (208) 442-3335 *Stall and RV Reservations can be made starting April 20 at 9:00am*
Secretary	Reanna Dillman 303-895-5256 info@horseshowpros.com
Show Manager	Morgan Tweedy
Patterns	Derby – 3 Lope toward Horse Show – 12 Lope toward

### ENTRY REQUIREMENTS

Copies of the following must be submitted to complete your entry:

- <u>Entry Form</u>
- SSN or TIN to be submitted for your entry to be valid and not assess a late fee
- Registration Papers or Grade Horse Certificate
- IRCHA Membership
- NRCHA Membership
- A health certificate within 10 days of show if coming from another state and a negative Coggins result within the last 12 months will be required for each horse brought onto the Idaho Center premises

#### **Derby and Spectacular Entries**

• Due on/before Monday, May 15, 2023, or a \$100 late fee will be assessed. Late entries before the draw on day, May 22nd will pay a \$100 fee, but will be entered into the regular draw. Late entries after the regular draw will assess the late fee and be drawn last in the herd and first in the reining and fence.

#### Horse Show Entries

• Must enter before **noon the day before** the class, or you will be drawn 1<sup>st</sup>



## **SCRATCH POLICY**

- *Derby and Spectacular* Deadline to scratch with no fees is **Sunday**, **May 21**, **2023**. **Draw is Monday May 22**, **2023**.
  - o Scratch after the deadline, but before the draw Responsible for cattle fee and office fee
  - o Scratch after the draw All fees must be paid. NRCHA & Video fees are refundable
- *Horse Show* Deadline to scratch with no fees is **1:00 pm the day before class** 
  - o Scratch after the deadline, but before the draw Responsible for office fee
  - o Scratch after the draw All fees must be paid. NRCHA & Video fees are refundable

### **2023 IRCHA STALL RATE**

### Contact the Ford Idaho Horse Park - NOT the Show Office

- \$180 for the entire show
  - or
- \$55 per day per stall
- Shavings available through the Horse Park office
- RV slots also available through the Horse Park

## **IRCHA SHOW INFORMATION**

#### DERBY

- All Class eligibility is governed by the **NRCHA 2023 Rulebook**. Contestants are entirely responsible for knowing their level of eligibility and entering accordingly.
- Level One Limited Open & Novice Horse ONLY entries will be a separate draw from the Open. If you cross enter from the open into the L1LO or Novice Horse, you will be drawn with the Open

#### HORSE SHOW/SPECTACULAR

- All Class eligibility is governed by the **NRCHA 2023 Rulebook.** Contestants are entirely responsible for knowing their level of eligibility and entering accordingly
- All Spectaculars Rein and Cow go's will run concurrently with horse show classes
- Non-Pro Boxing Spectacular horse must be shown in bridle

#### \*\*ARENA CLOSES 2 HOURS AFTER THE END OF THE SHOW EACH DAY, OR 12 MIDNIGHT - WHICHEVER COMES FIRST\*\*



### Idaho Reined Cow Horse Association 2023 Membership

Name of Member:			PRO •	Non Pro •	Youth •
	Individual Membership \$35 •	Family Membership \$50	)• You	th \$10 •	
Address:		City:	State	e: ZIP	:
Phone: ()	Email:				
Signature:			_Date:		
Family Member 1:			PRO •	Non Pro •	Youth •
Family Member 2:			PRO •	Non Pro •	Youth •
Family Member 3:			PRO •	Non Pro •	Youth •
Family Member 4:			PRO •	Non Pro •	Youth •

\*Family membership is limited to direct members and children under the age of 18. \*\*IRCHA Youth membership fee is waived if Youth is a current member of the Idaho Reined Cow Horse Youth Association



#### IRCHA Waiver, Release, & NRCHA Eligibility

I, the undersigned, being aware of the risks and hazards involved, hereby release the Idaho Reined Cow Horse Association, their officers, members, agents, employees, representatives, or any of them, of and from all claims, death, demands, actions, or cause of action, of any kind or nature whatsoever, whether now or ascertained, or which may hereafter develop or accrue me in favor of myself, my heirs or representatives or dependents, on account of or by reason, any injury, loss or damage, which may be suffered by me or them or to any property, horses, animals or any other personal property belonging to me, or used by me, because of any matter, thing or condition, negligence or default whatsoever and hereby assume or accept the full risk of danger of any hurt, injury, death, or damage which may occur through or by any reason or matter, thing or condition, negligence or default or any person whatsoever. I certify that I am eligible for classes entered. By my signature below, I hereby acknowledge that I meet the criteria for eligibility to compete in the classes entered according to the guidelines set forth by the NRCHA rulebook.

Signature:	
Printed Name:	Date:
Name of Minor if under 18.	

\*Every Exhibitor and Owner must sign individual waiver \*\*If under the age of 18, a legal parent or guardian must sign





		Tentative Schedule of Events May 25, 2022 - May 28, 2023				
	PLEASE NOTE: ARENA CLOSES 2 HOURS AFTER THE END OF THE SHOW EACH DAY, OR 12 MIDNIGHT - WHICHEVER COMES FIRST					
5/24/2022 Wednesday	Arena Hours: 12n- 10p	Move in – 8am Arena open 12n				
5/25/2022 Thursday	8am Start Time	<ul> <li>Non-Pro/Intermediate Derby REINED WORK</li> <li>Non-Pro Level 1 Derby REINED WORK</li> <li>Non-Pro Boxing Derby REINED WORK</li> <li>Open/Intermediate/Limited Derby REINED WORK</li> <li>Open Level 1/Novice Horse REINED WORK</li> <li>Non-Pro Boxing &amp; Non-Pro Boxing Spectacular REINED WORK</li> <li>{Set up cutting pen}</li> <li>Open Two-Rein Spectacular HERD WORK</li> <li>Non-Pro Bridle Spectacular HERD WORK</li> </ul>				
5/26/2022 Friday	8am Start Time Herd Settling @ 7:40	Open/Intermediate/Limited Derby HERD WORK Open Level 1/Novice Horse HERD WORK Non-Pro/Intermediate Derby HERD WORK Non-Pro Level 1 Derby HERD WORK Non-Pro Boxing Derby HERD WORK Open/Intermediate Bridle Spectacular HERD WORK Non-Pro Two-Rein Spectacular HERD WORK Non-Pro Boxing Bridle Spectacular HERD WORK				
5/27/2022 Saturday	8am Start Time Not to start before 5pm	Non-Pro Boxing Derby BOXING Open/Intermediate/Limited Derby FENCE WORK Level 1/Novice Horse FENCE WORK Non-Pro/Intermediate Derby FENCE WORK Non-Pro Level 1 Derby FENCE WORK Non-Pro Two-Rein & Non-Pro Two-Rein Spectacular Non-Pro Boxing Intermediate & Limited Open/Intermediate/Limited Bridle & Spectacular				
5/28/2022 Sunday	8am Start Time	Youth Boxing Non Pro Boxing & Boxing Spectacular Youth Cow Horse Non-Pro Level 1/Intermediate/Bridle & Non-Pro Bridle Spectacular Open Two-Rein & Open Two-Rein Spectacular Non-Pro Hackamore Open/Intermediate/Limited Hackamore Box Drive				

\*Breaks will be announced and decided by show manager \*\*Half drags on FENCE WORK may be implemented if number of entries warrants





Class	Add Back	Office Fee	Judge Fee	Cattle Fee	NRCHA Fee	Video Fee	Added Money	Total Entry Fee
Horse Show								
Open Bridle	\$250.00	\$80.00	\$10.00	\$80.00	\$8.00	\$10.00	\$1,000.00	\$438.00
Intermediate Open Bridle*	\$70.00	\$0.00	\$10.00		\$8.00		\$200.00	\$88.00
Limited Open Bridle	\$150.00	\$65.00	\$10.00	\$80.00	\$8.00	\$10.00	\$400.00	\$323.00
Non Pro Bridle	\$200.00	\$80.00	\$10.00	\$80.00	\$8.00	\$10.00	\$800.00	\$388.00
Intermediate Non Pro Bridle	\$140.00	\$65.00	\$10.00	\$80.00	\$8.00	\$10.00	\$250.00	\$313.00
Level 1 Non Pro Bridle	\$125.00	\$65.00	\$10.00	\$80.00	\$8.00	\$10.00	\$200.00	\$298.00
Open Hackamore	\$250.00	\$80.00	\$10.00	\$80.00	\$8.00	\$10.00	\$1,000.00	\$438.00
Intermediate Open Hackamore*	\$70.00		\$10.00		\$8.00		\$150.00	\$88.00
Limited Open Hackamore	\$150.00	\$65.00	\$10.00	\$80.00	\$8.00	\$10.00	\$350.00	\$323.00
Non Pro Hackamore	\$175.00	\$80.00	\$10.00	\$80.00	\$8.00	\$10.00	\$500.00	\$363.00
Open Two Rein	\$250.00	\$80.00	\$10.00	\$80.00	\$8.00	\$10.00	\$1,000.00	\$438.00
Non Pro Two Rein	\$140.00	\$80.00	\$10.00	\$80.00	\$8.00	\$10.00	\$500.00	\$328.00
Youth Cow Horse	\$50.00	\$0.00	\$10.00	\$25.00	\$8.00	\$10.00	\$200.00	\$103.00
Box Drive	\$125.00	\$65.00	\$10.00	\$80.00	\$8.00	\$10.00	\$300.00	\$298.00
Non Pro Boxing	\$125.00	\$65.00	\$10.00	\$80.00	\$8.00	\$10.00	\$300.00	\$298.00
Intermediate Non Pro Boxing	\$120.00	\$65.00	\$10.00	\$80.00	\$8.00	\$10.00	\$250.00	\$293.00
Limited Non Pro Boxing	\$90.00	\$40.00	\$10.00	\$80.00	\$8.00	\$10.00	\$200.00	\$238.00
Youth Boxing	\$50.00	\$0.00	\$10.00	\$25.00	\$8.00	\$10.00	\$200.00	\$103.00
Bridle Spectacular					1.		1	
Open Bridle Spec	\$300.00	\$110.00		\$250.00	\$8.00	\$20.00	\$1,500.00	\$668.00
Intermediate Bridle Spec	\$120.00	\$0.00		\$0.00	\$8.00		\$250.00	\$128.00
Non Pro Bridle Spec	\$200.00	\$90.00		\$250.00	\$8.00	\$20.00	\$1,250.00	\$568.00
Open Two Rein Spec	\$250.00	\$110.00		\$250.00	\$8.00	\$20.00	\$1,250.00	\$638.00
Non Pro Two Rein Spec	\$175.00	\$90.00		\$250.00	\$8.00	\$20.00	\$750.00	\$543.00
Non Pro Boxing Bridle Spec	\$175.00	\$90.00		\$250.00	\$8.00	\$20.00	\$500.00	\$543.00
Derby	<u>.</u>						-	
Open	\$400.00	\$130.00	\$20.00	\$250.00	\$8.00	\$20.00	\$4,000.00	\$828.00
Intermediate Open*	\$0.00	\$0.00	\$10.00	\$0.00	\$8.00	\$0.00	\$1,500.00	\$18.00
Limited Open*	\$0.00	\$0.00	\$10.00	\$0.00	\$8.00	\$0.00	\$1,000.00	\$18.00
Level 1 Open	\$175.00	\$100.00	\$10.00	\$250.00	\$8.00	\$20.00	\$900.00	\$563.00
Open Novice Horse	\$150.00	\$80.00		\$250.00	\$8.00	\$20.00	\$600.00	\$508.00
Non Pro	\$250.00	\$110.00	\$10.00	\$250.00	\$8.00	\$20.00	\$2,000.00	\$648.00
Intermediate Non Pro*	\$0.00	\$0.00	\$10.00	\$0.00	\$8.00	\$0.00	\$500.00	\$18.00
Level 1 Non Pro	\$150.00	\$80.00	\$10.00	\$250.00	\$8.00	\$20.00	\$600.00	\$518.00
Non Pro Boxing	\$120.00	\$80.00	\$10.00	\$250.00	\$8.00	\$20.00	\$600.00	\$488.00

\*Fee Enters rider in all eligible levels, know all levels that apply \*\*Concurrent Entries pay only one cattle fee





Horse Information					
Name:			Br	eed:	
Sire:	Dam:				
Registration #:	Year Foaled: • Stallion • Mare • Gelding			elding	
Owner's Name:	-		Owner's Pl	hone:	
NRCHA #:					
Payee Information - If payee is horse owner leave blan	k (Who Receiv	es the Checl	k)		
Name:	SSN/			ione:	
Address:		City:	Sta	ate:	Zip:
Email:					-
Rider(s) Information					
Name:				NRCHA #	
Class:			Ent	ry Fee:	
Class: Entry Fee:					
Class: Entry Fee:					
Name:				NRCHA #	
Class:			Ent	ry Fee:	
Class:			Ent	ry Fee:	
Class:			Ent	ry Fee:	
Name:				NRCHA #	
Class:			Ent	ry Fee:	
Class:			Ent	ry Fee:	
Class:			Ent	ry Fee:	
			Total F	Entry Fee:	

\*Rider & Owner must be NRCHA & IRCHA 2022 Members

#### Payment for Entries

• Check Enclosed • Credit Card

or

Hold Credit Card Information and upon check in pay I will pay with (Please Check Method)

Check • Cash • Different Credit Card

Credit Card Information		
Name on Card:		
Card Number:		CVC:
Expiration Date:	Billing Zip:	

Please send completed entries to the show secretary: Reanna Dillman, info@horseshowpros.com

#### \*\*Missing or incomplete entries will not be processed-this includes some form of payment\*\*

\*All payments are made to IRCHA. Payment by credit card will have a processing fee of 3.5% added.

\*Any payments that come back to IRCHA for lack of funds will be charged an additional fee of \$20

\*Payment is due at time of entry, credit cards and checks will not be charged or deposited until your show bill has been closed at the show office. This is to hold your entry.

\*If you do not close out your show bill, it will be closed for you.

\*If refunds are owed, IRCHA will issue a check to the payee unless otherwise directed. Refunds are issued within 10 business days of the conclusion of the show.